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(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
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by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the Question
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After this verification is over, the Test Booklet Number
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Sheet Number should be entered on this Test Booklet.
Each item has four alternative responses marked (1), (2), (3)
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at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are,
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ANTHROPOLOGY
Paper - 11
Note : This paper contains fifty (50) objective type questions of two (2) marks each. All
questions are compulsory.

1.  The first scientific system of personal identification was devised by
(1) Francis Galton (2) Alphonse Bertillon
(3) Edmond Locard (4) Leone Lattes

2. A statistical measure of the frequency with which two features are found in association
with each other is known as

(1) Correlation coefficient (2) Standard deviation
(3) Regression (4) Variance

3.  The concept of use and disuse of organs was proposed by
(1) G.G. Simpson (2)  Julian Huxley
(3) Lamarck (4) G.L. Stebbin

4.  The concept of survival of the fittest was given by
(1) Dobzansky (2) Darwin
(3) Huxley (4) Sewall Wright

5. Which of the following would represent ego’s father’s sister’s son ?
(1) Cross Cousin (2) Parallel Cousin
(3) Mother’s brother (4) Mother’s sister’s husband

6.  The term ‘Super organic’ in Anthropology is associated with

(1) Leslie White (2) Henry Maine
(3) Alfred Kroeber (4) Franz Boas
7.  The mutual exchange without a concept of immediate return of gifts is known as
(1) Potlatch (2) Barter
(3) Reciprocity (4) Lending and borrowing

8.  The term ‘dominant caste’ was coined by
(1) B.K. Roy Burman (2) K.G. Gurumurthy
(3) Surajit C. Sinha (4) M.N. Srinivas

9.  Which of the following sites yielded earliest signboards of the world ?
(1) Mohenjo-daro (2) Harappa
(3) Dholavira (4) Kalibangan
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10. Which of the following Mesolithic sits is not located in Ganga valley ?
(1) Damdama (2) Mahadaha
(3) Chopani Mando (4) Sarai-Nahar-Rai

11.  Which of the following ideas was NOT part of Darwins theory. Use the codes given :
a.  All populations show tremendous variation in physcial features.
b.  New variations arise through mutation.
c.  There is a struggle for survival
d.  More offsprings are produced than can possibly survive
Codes :

(1) a,candd are correct. (2) a,band c are correct.
(3) b, candd are correct. (4) candd are correct.

12. Identify the features of ABO blood group system. Use the codes given :
a. It was discovered by Landsteiner and Wiener.
b.  Its mode of inheritance was studied by Bernstein.

c.  Naturally occurring antibodies are found in serum.
d.  Itis not found among the Australian aborigines.
Codes :

(1) a,bandc (2) band ¢
(3) b,cand d (4) a,candd

13.  Which of the following is/are the features of Gibbon. Use the code given :
a. It is the smallest of the living apes.
b.  Itis widely distributed in Australia.
c.  Brachiation is the usual form of movement.
d. Itisalso called a “lesser ape”.

Codes :
(1) a,candd are correct. (2) b, candd are correct.
(3) Only a and d are correct. (4) a,band c are correct.

14. Which of the following is/are not the chracteristic features of DNA ? Use the codes given.
a.  DNA is a double helical structure.
b.  In DNA, sugar is deoxyribose type.
c.  DNA is not present in human mitochondria.
d. In DNA, adenine, guanine, cytocine and thymine are present.

Codes :
(1) a,bandd (2) bandd
3) ¢ (4) bandc
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15. Which of the followings are formal experimental designs ? Use the codes given below :
a.  Completely randomized design
b.  Latin square design

c.  Factorial designs

d.  Before-and-after with control design

Codes :

(1) a, bandd are correct. (2) a, band c are correct.
(3) candd are correct. (4) aandd are correct.

16. Which of the following anthropologists are considered as American-diffusionists ? Use
the codes given below :

a. L.H. Morgan b.  W.H.R. Rivers

c.  Clark Wissler d. A.L. Kroeber

Codes :

(1) candd are correct. (2) a,bandd are correct.
(3) a, band c are correct. (4) b, candd are correct.

17.  Which of the types of exchange have been proposed by Karl Polanyi ? Use codes given

below.

a.  Stock exchange b.  Reciprocal exchange
c.  Redistributive exchange d.  Market exchange
Codes :

(1) a, b, candd are correct. (2) b, candd are correct.
(3) a,candd are correct. (4) a, band c are correct.

18. Who were the chairman of the Backward Classes Commission ? Use codes given below :

a.  Kaka Kalelkar b.  Verrier Elwin

c. B.P.Mandal d. B.N. Lokur

Codes :

(1) aand c are correct. (2) a,band c are correct.
(3) a, b, candd are correct. (4) bandd are correct.

19. Select the correct answer from the following statements. Use the codes.
Archaeomagnetic dating is based on which of the following features of earth ?

a.  Its geographical polarity b.  Its magnetic polarity
c.  Its axis of rotation d.  Its meridians

Codes :

(1) a, candd are correct (2) candd are correct
(3) onlyd is correct (4) only d is correct

20. Which scholars of the following were involved in Yale-Cambridge expedition in Potwar

Region ?

a.  V.D. Krishnaswamy b.  Dharani Sen

c.  H.D. Sankalia d. V.N. Misra

Codes :

(1) aand b are correct. (2) candd are correct.
(3) aand c are correct. (4) band c are correct.
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21.

22,

23.

24.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : The Gibbon and Orangutan are Asiatic species.

Reason (R) : They were uprooted from their original African habitat by the Britishers.
In the context of the above two statements which one of the following is correct ?

Codes :

(1) (A)is true and (R) is not true.

(2) (A)is false and (R) is true.

(3) (A)is false and (R) is also false.

(4) (A)istrue and (R) is also true.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled

as Reason (R) :

Assertion (A) : Distribution of ABO and Rh vary in human population.

Reason (R) : Maternal-fetal incompatibility in both the ABO and Rh systems
influences the distribution of their alleles in human populations.

In the context of the above two statements which one of the following is correct ?

Codes :

(1) (A)is true and (R) is false.

(2) (A)is false and (R) is true.

(3) Both(A) and (R) are true, but (R) is not the correct explanation of (A).

(4) Both (A) and (R) are true, and (R) is the correct explanation of (A).

Given below are two statements, one is labelled as Assertion (A) and the other is labelled

as Reason (R) :

Assertion (A) : Genes are neither ‘good’ nor ‘bad’.

Reason (R) : Their survival value is determined by the environment in which they are
expressed.

In the context of the above two statements which one of the following is correct ?

Codes :

(1) Both (A) and (R) are correct.

(2) (A)is correct and (R) is the correct explanation of (A).

(3) (R)is wrong and (A) is correct.

(4) (A)is wrong and (R) is correct.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled

as Reason (R) :

Assertion (A) : Hemophilia is a disease characterized by the absence of one of the
clotting factors in blood.

Reason (R) : A female can develop an x-linked disorder if her father has one of the
disorders and her mother is a carrier.

In the context of the above two statements which one of the following is correct ?

Codes :

(1) Both (A) and (R) are wrong.

(2) (A)is correct, but (R) is wrong.

(3) Both (A) and (R) are correct.

(4) (A) is wrong, but (R) is correct.
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25.

26.

27.

28.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled

as Reason (R) :

Assertion (A) : A questionnaire is a set of questions, sent by mail, to be filled -up by the
informants themselves.

Reason (R) : Therefore, a questionnaire could only be applied among the non-literate
people.

In the context of the above two statements which one of the following is correct ?

Codes :

(1) (A)is true and (R) is not true.

(2) (A)is false and (R) is true.

(3) (A)is false and (R) is also false.

(4) (A)is true and (R) is also true.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled

as Reason (R) :

Assertion (A) : The concept of ‘Sacred complex’ was developed by L.P. Vidyarthi.

Reason (R) : L.P. Vidyarthi developed this concept in the study of the Maler Tribe of
Bihar.

In the context of the above two statements which one of the following is correct ?

Codes :

(1) Both (A) and (R) are correct.

(2) (A)is correct and (R) is not the correct explanation of (A).

(3) (R)is wrong and (A) is correct.

(4) (A)is wrong and (R) is correct.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : When rights, duties, and privileges of a person are partially both towards
father and mother sides, it is called a case of double descent.

Reason (R) : Ambilineal descent is also an example of double descent.

In the context of the above two statements which one of the following is correct ?

Codes :

(1) (A)is true and (R) is not true.

(2) (A)is false and (R) is true.

(3) (A)is false and (R) is also false.

(4) (A)is true and (R) 1s also true.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : E.B. Tylor’s concept of religion is also called animism.

Reason (R) : E.B. Tylor believed that the religion evolved from the belief in soul.

In the context of the above two statements which one of the following is correct ?

Codes :

(1) (A)is true and (R) is not true.

(2) (A)is false and (R) is true.

(3) (A)is false and (R) is also false.

(4) (A)is true and (R) is also true.
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29.

30.

31.

32.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : Varve is a glacial deposit.

Reason (R) : Varve is used to date ice ages.

In the context of the above two statements which one of the following is correct ?

Codes :

(1) (A)istrue and (R) is false.

(2) (A)is false and (R) is true.

(3) (A)is true and (R) is true.

(4) (A)is false and (R) is false.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : Absolute chronology is not absolutely absolute.

Reason (R) : The dates are obtained in ranges of years.

In the context of the above two statements which one of the following is correct ? Use the
codes given below.

Codes :

(1) (A)is true but (R) is false.

(2) (A)is false but (R) is true.

(3) (A)is false and (R) is also false.

(4) (A)is true and (R) is also true.

Arrange the following landmark publications related to evolutionary thought in the
ascending order of their publication. Use the codes given.
(a) Genetics and the origin of species.

(b)  Origin of species

(c) Systems of Nature

(d) Philosophei Zoologique

Codes :

(1) (@), (¢), (d), (b)

2) (¢), (d), (b), (a)

3) (@), (©, (), (a

4 (b), (d), @, (¢

Arrange the following fossils in order in which they were discovered. Use the codes given :
(a) Rhodesian Man

(b) Peking Man

(c) Heidelberg Jaw

(d) Java Man

Codes :

() (@), (b), (0), (d)

2) (), (0, (@ (D

3) (@), (0, (@), (b)

4 (c), (b), (d), (a)
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29.

30.

31.

32.

T 7 e 53 T € | U Bl SIS (A) T §H T A (R) HET ST §

ATUHA (A) : FTTIER (1) fermTara Fem & |
% (R) : a9 1 YSHT I T T et TOMT o T o STar € |
ST T BT o TSy | FeT | 9 B 91 el € 2

&<

(1) (A) g IR (R) Tod ¢ |
(2) (A) 7T & 3R (R) T € |
(3) (A) g 3R (R) W& |

(4) (A) T & 3T (R) T € |

T T A B U S (A) T A dF (R) T
AR (A) : FRUET AR qoT &9 F FRueT 7 e |
TH (R) : 6 I 0T bl @1 H T fohall ST € |
ST ST BT o T | FeT | | B 91 el € 2
YA

(1) (A) W g, W(R)TAT & |

() (A)TEdE W(R)TEE |

(3) (A)Tod &, W (R) F T € |

(4) (A)TWET IR (R) T WIE |

forepraeTeh o & Heifa Fefeifad Tecequl et Sl 39 T & 3TRIE! she § SFaferd

HIT | e ST T FHe T TN BT |
(a) SiHfeET Ug T RMH 31w wefst
(b) IR 3iie @i

(c) Towerg oiw A=

(d) THETETR et

ETE

(1) (@, (0, (d), (b)

(2) (©, (@, (b), (a)

(3) (@, (©, (), (a)

4) (b)), (@, (@), (¢)

fAfaiad Saredt s 3! ol T8 WiST o T § AR HiTT | A 5T TT e & uahm & |

(a) SRR aFe

(b) it A

(c) eSoter it

(d) STEr HEE

£ T4

(1) (@), (b), (¢), (d)
2) M), (©, (@, (@
3) @, (o), (a), (b)
4) (c), (b), (d), (a)
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33.

34.

35.

36.

37.

Identify the correct sequence of the levels of the taxonomic classification system in
descending order :

(1) Family — Order — Class — Genus — Species — Phylum

(2) Phylum — Class — Order — Family — Genus — Species

(3) Species — Order — Phylum — Genus — Family — Class

(4) Class — Phylum — Order — Species — Genus — Family

Arrange the following classifications of mankind in the ascending order in which they
were proposed :

(1) Hooton — Blumenbach — Garn — Linnaeus

(2) Linnaeus — Blumenbach — Hooton — Garn

(3) Garn — Linnaeus — Blumenbach — Hooton

(4) Blumenbach — Garn — Hooton — Linnaeus

Identify the correct sequence of Leslie A. White’s work in ascending chronology. Use the
codes given below :

(a) The Science of culture

(b) The Evolution of culture

(c) The Pueblo of Santo Domingo, New Mexico
(d) Modern Capitalist Culture

Codes :

(1) (c), (a), (b), (d)

2) (o), (@), (d), (b)

(3) (a), (b), (0), (d)

4 (), (¢), (b), (@

Which of the following is the correct sequence according to descending order of social
hierarchy ? Use codes given below :

(1) Brahmin — Kshatriya — Vaishya — Shudra

(2) Shudra — Vaishya — Kshatriya — Brahmin

(3) Shudra — Vaishya — Brahmin — Kshatriya

(4) Vaishya — Kshatriya — Shudra — Brahmin

Arrange the following village studies in ascending order in which they were conducted.
Use the codes given below :

(a) Kummabapettai in Kerala by Kathleen Gough
(b) Orchha in M.P. by Edward Jay

(c) Karimpur in U.P. by William Weiser

(d) Rampur in U.P. by Oscar Lewis

Codes :

(D) (@), (d), (c), (b)

2) (), (¢), (d), (a)

3) (@), (b), (o), (d)

4) (a), (d), (), (0
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33.

34.

35.

36.

37.

T TR JOTEA! & ¥RT o STaRIE! s i Tel HH | Tgar HiT ;
(1) URAR — S (3ATEI) — T — A} — TAST — HIgeAT
(2) HIEAH — T — A (3TTEY) — URER — FT — TSt
(3) TR — A (3TTEY) — FIee™ — &% — IRAR — o
(4) T — FHIRAH — T (3T — AT — I — IRAR

A ST & ARG aehioT 38 STRIET 8 H HaeId ity [STaH 37 W& 3T 74T o -
(1) & — Sopeeeish — TH — T
(2) o — sopee — ged — T
(3) T — foiH — SeHs — g2
(4) =THAS — T — g — T

Al T, ZaTEe o 9 S o TehIe & Wel STRIE! 5hH I 989 < | S I WA Y :
(a) T O 3 FHoaX

(b) T Tl 3 e

(c) T U i W=l S, =g AisTent

(d) HIeT FHURIfeRe FHeaw

&<

(1) (), (a), (b), (d)

(2) (), (a), (d), (b)

(3) (), (b), (c), (d)

4) (d), (c), (b), (a)

ATITTe | % 3TeRIEN b8 | (61 | & BiF T1 GAISH Tal & 2 FHE ol TAT
(1) ST — &b — 59—
(2) IE — T — gE — T
() IE — AT — TR — -
(4) T — §E — ¥E — T

T TTHIOT 3T o TS 1 Wel ST 56 1 € 2 e i Teraal § Tl I It
(a) HICIH T T el H FHHATETIES

(b) TSHE . R T4 Ua¥ H SRS

(c) fafcrm JoR §RT ST I | AT

(d) 3R AATad FRT I U H AT

£ T4

(1) (3, @), (), (b)

(2) (b), (c), (d), (a)

(3) (a), (b), (¢), (d)

4) (a), (d), (b), (c)
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38. Arrange the following in ascending order as per their years in which the commissions
were constituted. Use the codes given below.
(@) Commission for Scheduled Castes and Scheduled Tribes.
(b) National Commission for Backward Classes (B.P. Mandal)
(c) Scheduled areas and Scheduled Tribes Commission (U.N. Dhebar)
(d) National Commission for Backward Classes (Kaka Kalelkar)
Codes :
(1) (a), (b), (¢), (d)
(2) (d), (b), (0, (a)
(3) (@), (d), (o), (b)
4) (a), (d), (b), (o)

39. Select the correct sequence in which they appeared in Palaeolithic culture. Use codes.

(a) Fluted core (b) Amorphous core
(c) Tortoise core (d) Discoid core
Codes :

(1) (@), (b), (¢), (d)
) (b),(d), (c), (a)
(3)  (c), (d), (b), (a)
(4)  (d), (), (c), (b)

40. Arrange the following tools in correct sequence of their appearance :

(a) Hard axe (b)  Scraper
(c) Point (d) Cleaver
Codes :

(1) (@), (b), (0), (d)
) (a),(d), (b), (c)
(3)  (a),(c), (d), (b)
4)  (a), (b), (d), (c)

41. Match the following List — I with List — II. Use the codes given below :

List -1 List - II
(a) Chromosome theory of heredity (i)  Tijo & Levan
(b) Mutagens (i) Lyon
(c) 46 Chromosomes (ii1))  Muller
(d) X-chromosome inactivation (iv)  Sutton

Codes :

@ b (©© @
(H @) @ @G @Gv)
2 @G @ @) (1)
3 @O @ @) (i)
@ (@v) (@) @ (@G
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38. TTHATGREd TN ®l 37 e o |t o TRl 3hH | TG | e I Ferdal ¥ Tl I Hl 997

Eo
(a)
(b)
(c)
(d)

&<

(1
)
3)
4

STYfa ST Ua g SHsId ST
T YD o 3TN (S 1. Hea)

STgled & e Sged SIS ST (F.U. ToR)
T TUSET o 3TENT (ST FHITThT)

(@), (b), (c), (d)
(d), (), (©, (a)
(@), (d), (c), (b)
@, (d), (), (c)

39. XTI TR i FH UGl o Tl 3hH T 99 L | HS N TN L |

(a)
(c)

&<

(1)
2)
3)
(4)

e B

(d) THTHR IUHT

AT RN B (b)
FT BT

(a), (b), (c), (d)
(b), (d), (¢), (a)
(©), (d), (b), (a)
(d), (a), (c), (b)

40. T ST & TG | 2T T TE HH 1§ ? e B e F el I G |

(a)
(c)

&<

(1)
2)
3)
(4)

T PR (b)
e (d)

ereRll
TRt

(a), (b), (¢), (d)
(a), (d), (b), (¢)
(a), (¢), (d), (b)
(a), (b), (d), (¢)

41. Frefated ga-1 9 < 7€ w51 w0 a1l w5 7e 6 are geferd i | e K T e w5 mEn
I ;

(2)

(b)
(©)
(d)

YA

(=N

(1
)
3)
4
J-07-16

et -1
ISR T OGS TSI (ShHSTH (i)

=)

=it - 11
fostt wel
wa

RS (STAREE)
46 TOTEH (SRTHISITE)
T ShHIATSTH ol MR

@ (b (© (@
(i) (@ () (Gv)
(i) @ (i) (v)
) (@) (v) (i)
(iv) (i) (1) (i)

(i) fo==
(i) HeW
(iv) ¥
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42. Match the following List —

List -1

I with List — II. Use the codes given below :

List - II

(@) Homo florensis (i)  India

(b) Homo habilis (i1)
(ii1))  Africa

(c) Dryopithecus

Indonesia

(d) Narmada Man (iv)  France

Codes :

@ () (o)
1 @® a) (i)
(2) (@v) (i) (1)
(3) @) () (@)
4 @) @) (v)

43. Match the following List —

List -1 List — 11

(a) Coefficient of variation 1 5
(b) Mean (1) o
(c) Standard deviation (i) 7
(d) Correlation coefficient @iv) v
Codes :

(@ (b (© (@
M (v Gi) G @)
@ v O G (i)
G ) G (v i)
@ ) Gi) G G

44. Match the following List — I with List — II. Use the codes given below :
List -1 List - II

(a) Epicanthion (1) Maxilla
(b)  Stomion (i1))  Chin
(c) Gnathion (i) Eyes
(d) Zygion (iv) Lips
Codes :

(@ (b (© (@
M G Gi) G v
@ Gi) (v G 0
3 v @ GG
@4 ) @ (av) (i)

Paper-I1 18

(d)
(iv)
(1)
(1)
(ii)

I with List — II. Use the codes given below :

J-07-16



42, frefated gaE-1 9 < 78 wet w A1 6 7R wre gaferd i | | KT T e w5 wEn

T -
e -1 = - 11
(a) e RS () 9Rd
(b) @ aferm (i) SeHfEmEr
(c) grEsiiiusg (iii) TR
(d) =T A (iv) g
E T
@ (® (© (@
H @© G @) (1)
) @Gv) (@) @Gy @
() @) (@) @Gv) @)
@ @G @ 3G (1)
43. TreAtctEd -1 9 &t 7€ 7E1 o G-I 68T % 9 GAfeld SIS | A9 KT T B uEnT
T -
= -1 = - 11
(a)  forwer < TR CV
(b) A (Hi) i) o
(c) TH faeeH (i)
(d) Tedey T @iv) v
E T
@ (b () (@
() @Gv) (@) 3G @
2 (v @O @G (i)
3 @O G (@) (i)
@ (@O (@) 3G (1)
44, TrAtcfEd -1 9 &t 7€ 7_1 R G-I H T&1 % 9 GAford w1 T KT T H 5 uEnT
T -
et -1 et - 10
(a) Uichtege (i)  Sifyer (@frem) It S STegl
(b) wWHAA (i) arer
(c) TRREE (iii) i@
d) == (iv) @
E T
@ (b () (@
H @© (@) 3G (1)
() (@) (@v) @) @)
3 vy @O @) ()
@ @) @ @G (i)
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45. Match the following List — I with List — II. Use the codes given below :

List -1 List - 11
(Books) (Authors)
(a) Ancient Law (1)  James Frazer

(b) The Descent of Man (i1))  Ruth Benedict
(¢) The Chrysanthemum (i) Henry Maine
and the sword
(d) The Golden Bough (iv)  Charles Darwin
Codes :
(@ (b (© (@
(I @) @ @Gv) ()
@ O @G (@) (>Qv)
3 (Gv) (@) G) (1)
4 @) @Gv) G (@)

46. Match the following List — I with List — II. Use the codes given below :

List -1 List — 11
(a) Structuralism (i)  Karl Marx
(b) Structure — Functionalism (ii)) V.G. Childe
(c) Neo-Evolutionism (ii1))  A.R. Radcliffe-Brown
(d) Historical Materialism (iv)  Claude Levi-Strauss

Codes :

@ b (@ @
I @ @ @) @)
2 O @ @) (i)
(3) (@v) (@) @) @)
@ @ @ (@Gv) (i)

47. Match the following List — I with List — II. Use the codes given below :

List -1 List - II
(Tribe) (State)
(a) Kotwalia Tribe (i)  West Bengal
(b) Asur Tribe (i)  Gujarat
(c) Kadar Tribe (i)  Jharkhand
(d) Toto Tribe (iv) Kerala

Codes :

@ b (@ @
H @ @ @>@) (@Gv)
2 (@v) (@) (@ >\
3 @) (@) @Gv) @)
4 @Gv) (@) @) @)
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45. G-I 3T GA-11 3 T 1 T o= e | e o TEam | Tl ST B =T F

T -1 = - 11

(TTH) (1)
(a) UREE Al () S SR
(b) T e Hiw (i) w7 Ffewe
(c) IFEUIIHUST WS (i) &0 A
(d) T TieeA arE (v) =Ted gifem
E

@ ® © @

() Gi) @ Gv) ()
2 @O @) @) (v)
(3) @Gv) @) @G @)
4) i) (@G G @)

46. -1 3T GEI-11 B RN B AR B | F B T F Tl ST BT o7 B

et -1 et - 10

(a) ETEAER () ol AR
(b) TEAI-UHEART (i) S aEee
(c) Ta-fawmaR (i) TR, TEFTh-a1s
(d) Ufderasw difqdas (iv) FolE dE-LE
E T

@ ® © @
(1 @O ) @) ()
@ @O G (@Gv) (i)
(3) @Gv) @) G @)
@ @G @O (@) (i)

47. -1 Ht Il w1 G-I S e & | $ F Feradl ¥ T I H T91 F
= -1 T - 11
(STTTTer) )

(a) iAo ST (i) 9. ST
(b) TG ST (i) TR
(c) T SIS (i) @RES
(d) e ST (iv) A
E T
@ ® © @
1 @O @) () (Gv)
(2) @Gv) @i @ (D)
(@) @Gy @G Gv) @
4) (@(v) @) G @)
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48. Match the following List — I with List — II. Use the codes given below :

List -1 List - II
(Village) (Studied by)

(a) Rishangangi (Meghalaya) (1)  William Weiser

(b)  Shamirpet (Andhra Pradesh) (ii) Edward Jay

(c) Orchha (Madhya Pradesh) (iii))  S.C. Dubey

(d) Karimpur (Uttar Pradesh) (iv) Robins Burling

Codes :

(@ b ( (@

M (v Gi) GG

2 @ a) @) (v)

(3) @v) @) @) ()

4 (@Gv) (@) @) ()

49. Match the item in List — I with an item in List — II. Use the codes given below : :

List -1 List - II
(Name of the site) (Famous for)
(a) Bhimbetka (i)  Acheulian habitation
(b) Ulnur (1))  Rock Paitning
(c) Brahmagiri (ii1))  Ash Morind
(d) Paisra (iv) Megaliths

Codes :

@ b (© @
(H Gv) @ (@ (i)
(2 @) @ (@ @)
3 @ (Gv) (@) (1)
@4 @) (@) @Gv) @)

50. Match the item in List — [ with an item in List — II. Use the codes given below :

List -1 List — II
(a) Homo habilis (1)  Aurignacian
(b) Homo erectus (i)  Mousterian
(c) Neanderthal (iii)  Oldowan
(d) Cromagnon (iv)  Acheulian

Codes :

@ b (@ @
() @) @) @G @)
2 @O (@) @Gv) (1)
3 @ @ @) (@)
@ (@v) @ (@) (@)
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48. G-I HF TERA H GA-11 T A F | F2 H TrIar F Tl W H T B
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(b)
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(b)
(©)
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(1
)
3)
4
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(d)

YA

(=N

(1
)
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4

J-07-16

T -1
(T BT W)
frrafes @)
EG (i)  Torem df
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BEn (iv)  werET

= - 10
@ty &1 Hrm)
TTICT o e

@ b (© @
(iv) () (@) (i)
i) () () ()
i) Gv) (i) ()
(i) (i) Gv) Q)

e -1
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T e (ii)
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